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Question 1.Select the related word/letters/numbers from the given alternatives:

& I farehenl & & Hafeerd Qree/ 3ieR/Ean 1 v
Sanitation : Iliness :: Care : ?

TITEAT ¢ AR FEET : ?
Options:

1) Rest

HRH

2) Ignore

3UaT

3) Accident

mgesﬁon

REIE)

=)

Correct Answer: Accident

geeT

Candidate Answer: Ignore

39&T

Question 2.Select the related word/letters/numbers from the given alternatives:

& 71 faemedt 7 @ Hafeerd eree)sarl/aear & gfav)
GrtK : KtrG :: FjbH : ?

Options:

1) HbjF

2) jHbF

3) FbjH

4) HjbF
Correct Answer: HbjF
Candidate Answer: HbjF

Question 3.Select the related word/letters/numbers from the given alternatives:

3 1 ol & @ Haferd eree) 3R/ aedr # g
20:11::102:7

Options:

1) 49

2)52

3)61

4) 58
Correct Answer: 52
Candidate Answer: [ NOT ANSWERED ]
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Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

TFATaf@T Teet # 2T 1w faehenl & & Tawe e/ 31ar/Hedn o &1 Yiav ?
Options:

1) Man : Garage

3mea : IS

2) Pig : Sty

IR ;YRR

3) Horse : Stable

13T : e

4) Cow : Shed

I 1 B

Correct Answer: Man : Garage
3mea : e

Candidate Answer: Man : Garage

3mea : s

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

AT et # fu 970 faehedl # & fawa e/ 38R/HEAT 1 gl ?

Options:
1) Wvu

2) DBA
3) NML

4) HGF
Correct Answer: DBA
Candidate Answer: DBA

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

TArATaf@d veat # fow 1w faehenl 7 & fawe e/ 3rer/aedm i giav ?

Options:
1) 1629

2) 3418
3) 2349

4) 1834
Correct Answer: 1834
Candidate Answer: 2349

Question 7.Arrange the following words as per order in the dictionary.
TAFAfAfa 2rsel 1 AsgehiRn & fT 91T % & e ffEe ?

1. Exploit 2.Explosive 3.Exponent 4.Exposition 5.Explore

Options:

1)1,3,4,5,2

2)1,5,2,3,4

3)1,5,3,2,4

4)1,2,5,3,4



Correct Answer: 1,5, 2, 3,4
Candidate Answer: 1, 3, 4,5, 2

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
RrAfaf@a vest 7 U 3regeha e aran B, forast vah ug oed §1 faw a1e Rsmoat # & g #éY fashed IfAT S 31egshat sl o &ham ?

CAR, GCO, KEL, OGI, ?
Options:

1) SIK

2) SIF

3) TIK

4) TIL
Correct Answer: SIF
Candidate Answer: SIF

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
fAFATIRIT Teet & Toh Jiegshat feT 1T B, THEH U v ot &1 U 1w fashedl 7 & a T Faehed IIAT St 3iefshat Y O A1 2

100, 50, 52, 26, 28, ?, 16, 8
Options:

1) 14

2) 30

3)32

4) 38
Correct Answer: 14
Candidate Answer: 14

Question 10.Mithilesh said to Neha, "Your only brother's son is my wife's brother.' How is Neha related to the wife of Mithilesh?

TR o ST & &g, " TR Feholld 1S T GF A Teall B 3115 B 1" AgT T FAreler Y geall & Heer a1sv ?
Options:

1) Aunt

3

2) Mother-in-law

|

3) Sister

EEGH

4) Mother

HIAT

Correct Answer: Aunt

33'3-1T

Candidate Answer: Mother-in-law
ar|

Question 11.W, X, Y and Z are four friends. W is shorter than X, but taller than Y, who is shorter than Z. Who is the shortest among all?

W, X, YIRZIR BT EIW, X T BT & afehd Y A e §, S o Z F Ol €1 57 IR 7 Ta) BT HieT § ?

Options:
1HW

2) X
3)Y

4)7
Correct Answer: Y
Candidate Answer: Y

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word.
rAfaf@d fasredt & & a8 eea AT St feT 10 2ree & 31eRT &1 AT 0 T81 ST ST Hehell ?

SPECULATION



Options:
1) SPECIAL

2) TOPIC
3) SECULAR

4) CAUTION
Correct Answer: SECULAR
Candidate Answer: SECULAR

Question 13.If A = 26 and X-RAY = 40, then WHAT =?

If& A = 26 3T X-RAY = 40 &1, ar WHAT foraas aare giem ?

Options:
1) 52

2) 54
3) 56

4) 58
Correct Answer: 56
Candidate Answer: 56

Question 14.If 'A’ stands for '+' , 'B' stands for '-' , 'C' stands for 'x' , what is the value of (10C4)A(4C4)B6 = ?

Ife 'A' T AT '+' &, 'B' T Adele '-' 3R 'C' # AT 'X' &, dr (10C4)A(4C4)B6 = ?

Options:
1) 46

2) 50
3) 56

4) 60
Correct Answer: 50
Candidate Answer: 50

Question 15.If 3249289 = 35, 4419484 = 43, then 6256d400 = ?

Tfg 324289 = 35, 4410484 = 43 g1, dT 625400 T Al FIT GI9TT ?
Options:

1) 431

2) 413

3) 341

4) 143
Correct Answer: 143
Candidate Answer: [ NOT ANSWERED ]

Question 16.Select the missing numbers from the given alternatives
12848412412810044 7

U 1T fehedl & & o[t 37 3l Hifeiw ?
12848412412810044?

Options:

1)80

2) 56
3) 48

4) 36
Correct Answer: 56
Candidate Answer: [ NOT ANSWERED ]

Question 17.A person started walking towards West and covered a distance of 15m, he turned right and walked 10m. Again he turned right and walked 5m and in the
end he turned left and walked 15m. Which direction is this person facing now?

U SRR & qIREH T I TefeAT YE 2T 3R 15 Aex A gfr 721 | fohY g &0 {3 10 FIeT Tell| 38 a7 &7 HSH 5 FHIeY Tell AT 37 # 98 S {3 15 A
| 37 3 SATF 1 g o e A g 2



Options:
1) North
3(‘E R

2) South

gfaor
3) East
o

4) West

Correct Answer: North
3\‘;'(

Candidate Answer: [ NOT ANSWERED ]

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements:

1. All cycles are ducks.

2. All ducks are swans.

Conclusions:

1. All swans are cycles.

I1. Some swans are cycles.

Afaf@d weeT & te a1 e aeded e R &, Tordes 319 & asahd/AmaarT, I 3R I [Rerrer 13 & 3M9eh! fauR a1 & o dofded dcd & 9 98 9Head: g § @eaT
gl g &F1 3Rt fAvT et § & 3T 910 aordey 7 & sl RRad €9 @ T fAseny/Agar el ST TehdT § ? aded : 1. T TsfFra scaw §1 2. gl scad g9
g1 sy : 1 gl 6 wsfener €1 11 T €9 amsfeher €1

Options:

1) Only conclusion I follows

Fad vy I TE 8

2) Only conclusion II follows

o frsey 11 T &1

3) Both conclusion I and conclusion II follow

s 1 3R 11 =t @ &1

4) Neither conclusion I nor conclusion II follows

AT A sy 1wt § 3% A & s 11 @ 8

Correct Answer: Only conclusion II follows
e frsey 11 T 81

Candidate Answer: Only conclusion II follows
ol sy 11 T 8

Question 19.Find the number of triangles in the given figure?

&r a1 i # Fegsit i wear A HifSw ?
Options:

1)8

2) 10

3) 12

4) 14
Correct Answer: 14
Candidate Answer: [ NOT ANSWERED ]

Question 20.Which of the diagrams given below correctly represents the relationship among WOMEN, MOTHERS, SPINSTERS

Arfafld 7 @ Hla-ar 3@ v 1v ereal & i #er Foer FH a2iidT § | AT, Aamw, sifdafa



Options:

Correct Answer:

Candidate Answer:

Question 21.Which answer figure will complete the pattern in the question figure?

TAEATAE # @ HleT-8r ScaT 3T T THTd & TTcTed i G Halr ?




Options:
1)

il

W
-

1l

Correct Answer:

_

Candidate Answer:

_

Question 22.From the given answer figures, select the one in which the question figure is hidden.

& S Secl HTHTAT 7 ¥ 38 3ead IFh r IfAw e wea 3npfa fea 81

=




Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

afe; forelr FeTer A, 7 weeT SnHfarat 7 REIT AR AlSa 1T ST A Wiew & 918 d6 9 Sea¥ 3 ST s &am ?

Lhdzgpd rald

e e o oo e
f [ | I 5 O R
W I
1 1 1
| i ]
| LA BTN




Options:
1)

Q0090 00
o 00 090 00

2)

6500000
o000 000

4)

o0
oo OO0

]
4]

oo O O

g ©

Correct Answer:
a 0

o0
oo OO0

]
4]

oo O O

g ©

Candidate Answer: [ NOT ANSWERED ]

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?
I T GUOT T MN @T TR T@T SAIT aT & 31 3eal ATl 7 W SleT-Ar 3Thicl weet e o Fer wfafees gl ?




Options:
1)

Question 25.1n this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 4 and that of
Matrix II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., S can be represented by 02,11, etc.,
and 'L' can be represented by65, 86, etc. Similarly you have to identify the set for the word 'GATE'

[ (ol lz]ssg |s]elzlelo]
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Tl A IEN IR
T QG Aol T HEAT-AHE GaNT I 10T &, SR 3 fasreddt 3 & faeir wer 37 o v &1 Ryeroxt 3 fow a1v e woqg 318WT & ar aeif gawr &rife arw €, SR & o few
1T &Y ATSET A £ 1 Mg 1 F T IR Ty 7 FEam 0 & 4 3R 3megqg I 1 5 8 9 & 718 §1 37 ITShgT & Uah W 1 Igel 30T Tad! R I1G 7 T HEAT SanT geiiam
ST EHAT &1 JEERT & T 'S' 7 02, 11 31T GaRT &A1 ST FehelT & T 'L ' 1 65, 86 TS EaRT &R ST Hhell &1 ST ARG & TRl T gU 2foq 'GATE' & o wagg 1
Ygase g



Options:

1) 30, 89, 11, 57

2) 21, 68, 34, 78

3) 21, 96, 24, 78

4) 12, 89, 42, 68

Correct Answer: 21, 96, 24, 78
Candidate Answer: [ NOT ANSWERED ]

Question 26.Which institution is known as 'Soft Loan Window' of World Bank?

it A dE 1 3o S & 'goreT ot oSl & AH A ST AT R ?
Options:

1) IDBI

AR e R d
2) IDA

AT

3) IMF

IHeeRTSET HgT Y

4) RBI

AR Rera d&

Correct Answer: IDA
AT

Candidate Answer: IMF

HeeRTSET HgT Y

Question 27.Which curve shows the inverse relationship between unemployment and inflation rates

T AT Feh SRUSHTRY 3 T TRITA-ET & Heer sl Gireliaa: eriiar & ?
Options:

1) Supply curve

gfet @

2) Indifference curve

HATART T

3) IS curve

HTS TH IH

4) Phillips curve

rforcd aw

Correct Answer: Phillips curve
Trforca as

Candidate Answer: IS curve
S TH IH

Question 28.The longest sea beach in India is

AR H FH ST FG - e (A - ey ) Far g ?
Options:

1) Chapora beach

TIRT de ()

2) Diu beach

Qg de (&)

3) Aksa beach

31T de ()

4) Marina beach

Ade AT

Correct Answer: Marina beach
AT ST

Candidate Answer: Marina beach
AT ST

Question 29.The Jammu and Kashmir State Legislative Assembly has a tenure of

SR T TaUTeT W &7 SFIaTel el a¥ &7 81T § ?



Options:

1) Six years

6 ay

2) Five years
53§

3) Four years
49§

4) Seven years
7 9y

Correct Answer: Six years
6 Iy

Candidate Answer: Five years
53y

Question 30.Which one of the following Committees is described as the 'twin sister' of the Estimates Committee?

AT & @ it & AR T Arereholel FIAT H 'S[gal a8 Fel AT & ?
Options:

1) Public Accounts Committee

e T JiAfd

2) Committee on Public Undertakings

ot feie 3usha AfAfa

3) Departmental Standing Committee

st Ty afafa

4) Privilege Committee

dwfeRr afdfa

Correct Answer: Public Accounts Committee

dih o arAfa

Candidate Answer: Public Accounts Committee

dieh o afAfa

Question 31.Potato is a ?

e[ FATE ?
Options:
1) Root

)

2) Stem
ELLG

3) Bud

Fell

4) Fruit
el
Correct Answer: Stem
ELL]

Candidate Answer: Root
[cES

Question 32.English education was introduced in India by

AR 3 3ol 6T R 3R & ?
Options:

1) Curzon

Fatel

2) Macaulay

FHeprer

3) Dalhousie

ERREl

4) Bentick

sfrcs

Correct Answer: Macaulay

Harer

Candidate Answer: Bentick
iz



Question 33.Short term contractions and expansions in economic activity are called

aﬁmmﬁﬁmaﬂmwmﬁwaﬁwm%?
Options:

1) Expansions

TER

2) Recession

FHE

3) Deficits

et

4) The business cycle

SIqHT Ush

Correct Answer: The business cycle
cJqHT dsh

Candidate Answer: The business cycle
cIdH dsh

Question 34.Which one of the following region is most rich in coal deposits?

TAFATATT & @ hleT A1 &1 HIA-$ESR 7 T T8 qog & ?
Options:

1) Bramhaputra Valley

SEAY e

2) Damodar Valley

A TTEr

3) Mahanadi Valley

HETTET TTer

4) Godavari Valley

TMEreRT |y

Correct Answer: Damodar Valley
grAeT |mér

Candidate Answer: Mahanadi Valley

HETTEN T

Question 35.Rainfall caused by intense evaporation in equatorial areas is called

STEIAcT 8T 3 TG ATSUOT & NOT Glet ATl ST T &7 &get § ?
Options:

1) Orographic rainfall

g aut

2) Cyclonic rainfall

TehaTcT TSt

3) Frontal rainfall

EIGIDRCU

4) Convectional rainfall

Hagelr auT

Correct Answer: Convectional rainfall
FHagelr auT

Candidate Answer: Cyclonic rainfall
TehaTdT auT

Question 36.Haematopoiesis take place in

TFAlcafed gl gl & ?
Options:

1) Lungs

B3

2) Pancreas

3HIART

3) Liver

[Cicy

4) Bone marrow

31T AsaT



Correct Answer: Bone marrow

31T A

Candidate Answer: Pancreas

3IART

Question 37. is @ hormone that regulates the amount of glucose in the blood

PioT T ETHIA T 7 AT & A= AT AT g ?
Options:

1) Glucogen

eI

2) Thyroxine

YRR

3) Oxytocin

R

4) Insulin

g

Correct Answer: Insulin
EsIco)

Candidate Answer: Glucogen
Eccacny

LN

Question 38.Wall Street collapse led to

ater FIe 7 A & e Hcafiies AR S & o/ yerma st ?
Options:

1) World War II

el #erge

2) Recession

AT

3) U.S. attack on Iraq

ST X AT T HTHHATT

4) Great Depression

HETHE

Correct Answer: Great Depression
HETHSE

Candidate Answer: Recession

G

Question 39.Gandhara Art is the combination of

IR Fell fSheT &Y Fell3iT FT TS & ?
Options:

1) Indo - Roman

&g - AAT

2) Indo - Greek

&< - geAmeir

3) Indo - Islamic

g - srenfais

4) Indo - China

e - el

Correct Answer: Indo - Greek
&€ - FeAeir

Candidate Answer: Indo - Islamic

&< - sEenias

Question 40.If electric resistance is to be decreased, then the number of resistances should be connected in

R, Rrege SRR 35 T 8 ot SRR B FT Y Ry g TR ?



Options:

1) Series

e (RdisT)

2) Parallel

HHAX

3) Mixed arrangement
AT g

4) None of these

ST A IS AT

Correct Answer: Parallel
HHAX

Candidate Answer: Parallel
HHAX

Question 41.Related to computers, what is 'Wetware' ?

FFY & T 7 'IT I 'FAT@ATE ?
Options:

1) Computer programs

FEY WAH

2) Circuitory

wféhelr

3) Human brain

ARG -ARETSH

4) Chemical storage devices
TafAs HIgeT IF

Correct Answer: Human brain
HATq-AfETSH

Candidate Answer: Circuitory

afdhelr

Question 42.Indira Goswami, the famous editor, poet, scholar and writter won the Jnanpith Award in which language?

9Tig wFTeeh, HiaaN, fagd 3T ARG 3frerr ireared i it A #7197 o fov ARTdS TR feram arar ?
Options:

1) Bengali

Eoicy

2) Odia

sfar

3) Assamese

safaar

4) Hindi

=l

Correct Answer: Assamese

afaar

Candidate Answer: Odia
3f3ar

Question 43.Ultraviolet radiation in the stratosphere is absorbed by

FAATT ASA H a1 [ITAOT Tohaah garT Aaeiie foam Jrar g ?
Options:

1) SO,

SO,

2) Ozone

ko)

3) Oxygen

3itorister

4) Argon

ko)

Correct Answer: Ozone
ST

Candidate Answer: Ozone

Eicic)



Question 44.All isotopes of the same element have

HHI dcd & Gl 3sHRT 7 FATgIaT & ?

Options:

1) different atomic numbers and different atomic mass
et WAIaS AR IR et i dgfa

2) different atomic numbers and the same atomic mass
THeeT WAUITAH AR AR T ST TATES Faid

3) the same atomic number but different atomic masses
Teh SHET TRATAh shieh fehee] et IRATOTIAh Hetel

4) the same atomic number and the atomic mass

T Sl GRAIH shaish 3R T ST AmTas defa

Correct Answer: the same atomic number but different atomic masses
T S A et e et seamTfaes defar

Candidate Answer: different atomic numbers and different atomic mass
e qRAIfas A HR e gaAmifas Tefa

Question 45.Nitric acid does not react with

Afee e fAeafaf@d # & foras aryr siffrar A6 axar g ?
Options:

1) Gold

ot

2) Copper

GIE

3) Zinc

STEAT

4) Iron

itgT

Correct Answer: Gold

ot

Candidate Answer: Copper
GICH

Question 46.Nandadevi peak is located in State

Ararcar e e Tea A Ra g ?
Options:

1) Himachal Pradesh

TeaATarer weRT

2) Uttarakhand

3cd@us

3) Uttar Pradesh

3cal veRr

4) Sikkim

Tafrrar

Correct Answer: Uttarakhand
3cd@us

Candidate Answer: Uttarakhand
3ccI@Us

Question 47.Which one of the following industries is known as 'Sunrise Industry' ?

AT 7 & T & 35T 1 ' GIGT 3T FeT AT § ?
Options:

1) Iron & Steel

T 3R sET

2) Cotton Textile

T ae

3) Information Technology

T SR

4) Tea & Coffee

TRy 3R T

Correct Answer: Information Technology

AT We Akt



Candidate Answer: Tea & Coffee

g 3R

Question 48.The material used in electric heater

is...

Farorelt &5 8rex 3 lerel T SRyt A ¥ ?
Options:

1) Tungsten

IR

2) Nichrome

IGEE

3) Brass

dider

4) Steel

SEITT

Correct Answer: Nichrome

IGEE:)

Candidate Answer: Tungsten
(L)

Question 49.Pellagra and Scurvy are caused by which pair of vitamin deficiency respectively

e 3R ToRdt FaRn: Hie F ferfAat Hr wh & FRoTe § ?
Options:

1) Vitamin C and Vitamin D

afaa O 3R af@a &

2) Vitamin B-12 and Vitamin C

ferfder fi-12 3k Rafas @

3) Vitamin C and Vitamin A

faafaa @ 3k faaf@a

4) Vitamin A and Vitamin B-12

faafaa v 3tk faafds §-12

Correct Answer: Vitamin B-12 and Vitamin C
farfaa f-12 3k fGafas @

Candidate Answer: Vitamin A and Vitamin B-12
afaa v ik fGaf@s #i-12

Question 50.Who appoints the Finance Commission in India?

AN o Taeet AT & AT et T g ?
Options:

1) Governor, R.B.I.

IFR, AR Re1d §F

2) CAG of India

HRA & [ATFh Taa Agrorar qreTsh

3) President of India

HRA & Isgafer

4) Central Finance Minister

Fear faed Farer

Correct Answer: President of India

AR & ISt

Candidate Answer: Central Finance Minister

Fr faed Farery

Question 51.A can do a certain job in 12 days. B is 60% more efficient than A. Then B can do the same piece of work in

A TRl 1T T 12 T&eT 31 T TeheT & 3R B, A & 60% 31T8h d-1e & STST B 3 I 1 foheel fot 7 ham 2



Options:
1) 8 days
8 feet

2)

?1d ;
5 days

1
?Eﬁ—rr
3)

ﬁid ;
3 days

1
6_

4 fest
4) 6 days

6 f&et

Correct Answer:

?111 ;
5 days

1
';' = E n_-|
2
Candidate Answer: 8 days
8 feet

Question 52.A rectangle with one side 4 cm is inscribed in a circle of radius 2.5 cm. The area of the rectangle is:

Tk 3T, Toweh vk oo 4 Q.. &, Fher 2.5 Q.. B arel gt 3§ 3TId AT AT g1 ?
Options:

1) 8 cm?

g &2

2) 12 cm?
12842
3) 16 cm?
16 @72
4) 20 cm?
20 .42

Correct Answer: 12 cm?
12 a2

Candidate Answer: [ NOT ANSWERED ]

Question 53.A merchant marked cloth at Rs. 50/metre . He offers 2 successive discounts of 15% and 20%. The net price/metre is :

FIg SR F95 T Rs. 50 Ffet 7. 7 3ifohd FXaT §1 98 FRE 15% 3R 20% T &ar €1 9fa 70 faet () Fiera Fam gefr ?

Options:
1) Rs. 32.50

2) Rs. 42.50
3) Rs. 34.00

4) Rs. 40.00
Correct Answer: Rs. 34.00
Candidate Answer: [ NOT ANSWERED ]

Question 54.3 brothers divided Rs. 1620 among them in such a way that the share of second is equal to 5/13 of share of other two, combined. What is the share of
the second one?

e St ¥ 3TorE 3 Rs. 1620 Fr Y X S B g@Y 97 Y 37 o ST F Ty TN v 5/13 R T @ S v o e § 2

Options:
1) Rs. 1170

2) Rs. 450
3) Rs. 540

4) Rs. 500
Correct Answer: Rs. 450
Candidate Answer: Rs. 1170



Question 55.A dealer marks his goods 20% above their cost prices. Then,he allows such a discount on the marked price so that he makes a profit of 8%. The rate of
discount is:

IS AN 3790 a3 & Hed 3oTh HF Hed & 20% 378 0T 3ifhet el §1 Y g 3ifehd 7o R T O ge 2T ¥ TSI 38 8% T ofle 81T & o STiet arely g
eI FATE?

Options:

1) 12%

2) 10%

3) 6%

4) 4%

Correct Answer: 10%

Candidate Answer: [ NOT ANSWERED ]

Question 56.The salary of a person is reduced by 20% . To restore the previous salary, his present salary is to be increased by

Toell Al &1 AcfaT 20% e T 17| 38 36k GRTed defel TR el & T 3Heh A dciel i fehelall STl g1am ?

Options:
1) 20%
2) 25%
3) 17.5%
4) 22.5%

Correct Answer: 25%
Candidate Answer: 20%

Question 57.Two buses travel to a place at 45 km/hr and 60 km/hr respectively. If the second bus takes 52 hours less than the first for the journey, the length of the
journey is:
a1 & s 45 oA /auer A 60 .7, /Eruer 1 uTel & AT Y TET o IS SF o Tgell S T 3UET M1 H 5 V2 HUE HiF ofcll § Al ST AT feheell ol § 2

Options:
1) 900 km
900 foh.# T,
2) 945 km
945 fer.a.
3) 990 km
990 fer.a.
4) 1350 km
1350 fer.a.

Correct Answer: 990 km
990 f.5 .

Candidate Answer: [ NOT ANSWERED ]

Question 58.
1 1

If (x +=): (x- =) = 5:3,the the value(s) of x is / are
x E

afg (x +§j: (x—%j = 5:3 @l dlx & AlA IAST ?

Options:
1)+1

2)+2
3)+3

4)0
Correct Answer: + 2
Candidate Answer: [ NOT ANSWERED ]

Question 59.An exterior angle of a triangle is 115° and one of the interior opposite angle is 45°. Then the other two angles are

Tl 3837 T STRT 10T 115° § 3R T e Reh T 10T 45° T & AT 317 &1 HIUT T AT AT ?
Options:
1) 65°, 70°

2) 60°, 75°
3) 45°, 90°

4) 50°, 85°
Correct Answer: 65°, 70°
Candidate Answer: [ NOT ANSWERED ]



Question 60.
InaAABC, 2A+ 2B =75%and 2B + 2C = 140° , then 2B s

TE AABC,2A+ £B=75%, 2B + 2C= 1409, TV «B FAT BIFM?

Options:
1) 40°

2) 35°
3) 55°

4) 45°°
Correct Answer: 35°
Candidate Answer: [ NOT ANSWERED ]

Question 61.
The value of (1+tan?0)(1-5in?0) is

(1+tan26) (1 — sin?@)T AT FT BIAN?

Options:
1)2

2)1
3)-1

4)-2
Correct Answer: 1
Candidate Answer: 1

Question 62.If 4x2 - 12x + k is a perfect square, then the value of k is

T 4x? - 12x + k qO7 T97 Y &Y k T AT TAST ?

Options:
1)2

2)9
3) 12

4) 10
Correct Answer: 9
Candidate Answer: [ NOT ANSWERED ]

Question 63.(1132 + 1152 + 1172 - 113 x 115 - 115 x 117 - 117 x 113) is equal to

(1132 + 1152 + 1172 - 113 x 115 - 115 x 117 - 117 x 113) Traeh sqe & ?

Options:
1)0

2)4
3)8

4) 12
Correct Answer: 12
Candidate Answer: 12

Question 64.The average of runs scored by a cricketer in his 99 innings is 99. How many runs will he have to score in his 100th innings so that his average of runs in
100 innings may be 100?

TorT fohehe TRIGTET EaRT Welr =Y 99 TIRAT 7 3Heh SaRT FA1 I IAT AT AT 99 & | 100dT INY # 3 Fohcet I SATeT g19Y dATfeh 100 ITRAT 3T 30eh IAT T AT 100 g
ST ?

Options:
1) 100

2) 99
3) 199

4) 101



Correct Answer: 199
Candidate Answer: 199

Question 65.
if rsin® =1, rcosf = V3 then the value of r’tanf is

Z}'ﬁ“' rsing = 1, reosd = 3 Fﬂr:mnefﬂmaﬁlﬂ'ﬁ{ ?
Options:
1)4

2)

V3

3)
4

V3
4) 4v3

Correct Answer:
4

V3
Candidate Answer: [ NOT ANSWERED ]

Question 66.1f p3 - 3 = (p - q) ( (p - @)% + X p q ) then value of x is

kP> -a® = (p-a) ((p-a)? +xpq) & arx AT AT P ?
Options:

1)1

2)-1

3)3

4)2
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

Question 67.

If {ad—;)-’- = 3, thenthe value of a¥® + a2+ a®+ 11is

1
e (a + 2= 3gTdlal® + al2 + af + 1 HTHA AT I ?

Options:
1)3

2)1
3)0

4)2
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 68.The top of a broken tree touches the ground at a distance of 15 m from its base. If the tree is broken at a height of 8 m from the ground, then the actual
height of the tree is

TRl €& g7 7 <MY #7197 38 el & 15 7. & gl 71 31 T T §1 IR a7 o7 W 8 F. iy SIS R v 8y Y gaT i e s Fr oy ?
Options:

1)17m

177/

2)20m

20 &

3)25m

25 &

4)30m

30 &



Correct Answer: 25 m

25
Candidate Answer: [ NOT ANSWERED ]

Question 69.In APQR, straight line parallel to the base QR cuts PQ at X and PR at Y. If PX:XQ = 5:6, then the XY:QR will be

TRET APQR 3 TR QR & AR Tl Y@T PQ T X WX 3 PR &' Y WX el &1 Ife PX:XQ = 5:6 & aT XY:QR FT giar ?
Options:

1) 5:11

2) 6:5

3) 11:6

4) 11:5
Correct Answer: 5:11
Candidate Answer: [ NOT ANSWERED ]

Question 70.A man borrowed some money from a private organisation at 5% simple interest per annum. He lended this money to another person at 10% compound
interest per annum, and made a profit of [1 26,410 in 4 years. The man borrowed

el sarfera oF el ST EaTeeT & 5% a1f¥ieh FIUROT sATeT 4T &Y WX &1 T SUR o] Teead 38 a5 T el 31T safard &1 10% a1 wegie sarer W ¢ & 3R
S W 3T 4 a¥ 7 0 26410 T 1T E3T| 36 AT o ool TRy 3UR o ot 2

Options:

1) 200000

2) 150000

3) 132050

4) 100000
Correct Answer: 100000
Candidate Answer: [ NOT ANSWERED ]

Question 71.

From two points, lying on the same harizontal line, the angles of elevation of the top of
the pillar are © and @ (2 < @). If the height of the pillaris ‘h'm and the two peointsligon
the same sides of the pillar, then the distance between the two points is

g Afa= T ow &) fags @, Gl v & ) 3ema For 6 I e(s<e) B
afe ety oy 3ed n Al & A S fig T & o 3 o S R & drer
gli dane?

Options:

1)

h{tand — tan @)m

2)
h{cot® — cot8)m

3)
h{cotd — cot@)m

4)
tanf cand
tanl—tang

Correct Answer:
h{cotd — cot@)m

Candidate Answer: [ NOT ANSWERED ]



Question 72.The Bar graphs represents the number of road accidents due to bus and car during the years 2008 - 2013. Study the graph and answer the questions.

3 IR I 7 ¥ 2008-2013 %mmmmaxmgmwaﬁﬁmﬁﬁaﬁamwm T T I HIFFT 3R 92T & 3caX afav|
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The total number of road accidents in the year 2009, 2011 and 2013 combined together is

a¥ 2009, 2011 3R 2013 F Fof A Hsoh GEEAT hT Fear fheair & ?

Options:
1) 180000

2) 110000
3) 70000

4) 160000
Correct Answer: 180000
Candidate Answer: 180000

Question 73.The Bar graphs represents the number of road accidents due to bus and car during the years 2008 - 2013. Study the graph and answer the questions.

9 IR I H 9§ 2008-2013 %mwmw$m§émwaﬁq@mﬁaﬁaﬁmwm T T T HIFT 3R 92T & 3caX afav|
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The ratio of the road accidents due to Bus in the year 2008 to that by Car in the year 2012 is

a¥ 2008 #F §7 & FRT 3R a¥ 2012 ﬁw%wg@mgﬁmﬁwww%?

Options:
1) 2:1

2)1:2
3)2:3

4) 3:4
Correct Answer: 3:4
Candidate Answer: 3:4



Question 74.The Bar graphs represents the number of road accidents due to bus and car during the years 2008 - 2013. Study the graph and answer the questions.

3 IR I 7 ¥ 2008-2013 %mmmmaxmgmwaﬁﬁmﬁﬁaﬁamwm T T I HIFFT 3R 92T & 3caX afav|
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The respective ratio between the accidents by cars in the year 2012, 2010 and 2009 is

Ty 2012, 2010 31T 2009 ﬁwapmgégézmﬁ%a’mmn Ot FATE ?

Options:
1) 2:5:4

2) 4:5:4
3) 4:3:2

4) 4:5:2
Correct Answer: 4:5:4
Candidate Answer: 4:3:2

Question 75.The Bar graphs represents the number of road accidents due to bus and car during the years 2008 - 2013. Study the graph and answer the questions.

9 IR I H 9§ 2008-2013 %mwmw$m§émwaﬁq@mﬁaﬁaﬁmwm T T T HIFT 3R 92T & 3caX afav|
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The ratio of the averages of the road accidents due to Bus to that by Car in the year 2008, 2011 and 2013 is

a¥ 2008, 2011 3 2013 # §H & FHROT AR FR GIRT &€ Ash A3 T AT 31T FAT Y ?

Options:
1) 4:5

2)5:4
3)5:1

4) 1:4
Correct Answer: 5:4
Candidate Answer: 4:5

Question 76.1n the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

LETHARGIC



Options:

1) ENERGETIC
2) LAZY

3) LETHAL

4) LEGAL

Correct Answer: LAZY
Candidate Answer: LAZY

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

MALLEABLE

Options:

1) TEACHABLE

2) INTRACTABLE

3) MANAGEABLE

4) PLIABLE

Correct Answer: INTRACTABLE

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Persemonious

2) Persimonoius

3) Parsemonious

4) Parsimonious

Correct Answer: Parsimonious

Candidate Answer: [ NOT ANSWERED ]

Question 79.1n the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Sooner had he come (A)/ his colleagues (B)/ organised a get together (C)/ No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I enjoyed during (A)/ my tenure (B)/ at Shimla (C)/ No error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: C

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The Government offered him (A)/ clerical job (B)/ but he turned it over (C) / No error (D)
Options:

1) A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: [ NOT ANSWERED ]

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

After a noisy and tumultuous supper, we for the day.
Options:

1) retirement

2) retiring

3) retired

4) retire

Correct Answer: retired

Candidate Answer: retired



Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The villager cried his voice for help
Options:

1) on the top of

2) in the top of

3) from the top of

4) at the top of

Correct Answer: at the top of

Candidate Answer: on the top of

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Simon teaches children water colour painting
Options:

1) the art on

2) the artin

3) the art by

4) the art of

Correct Answer: the art of

Candidate Answer: the art of

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Be down with

Options:

1) Suffering from

2) In grief with

3) In pain with

4) Aching with

Correct Answer: Suffering from
Candidate Answer: In pain with

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Fair - weather friend

Options:

1) Honest only when easy and convenient

2) Truthful only when easy and convenient

3) Supports only when easy and convenient

4) Temporary only when easy and convenient

Correct Answer: Supports only when easy and convenient
Candidate Answer: Temporary only when easy and convenient

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Pull together

Options:

1) Become friends

2) Work harmoniously

3) Be successful

4) Live happily

Correct Answer: Work harmoniously
Candidate Answer: Become friends

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A place where soldiers live
Options:

1) Tanks

2) Shacks

3) Ordnance Depots

4) Barracks

Correct Answer: Barracks

Candidate Answer: Barracks

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A man who collects old and new coins.
Options:

1) Geologist

2) Numismatist

3) Archaeologist

4) Zoologist



Correct Answer: Numismatist
Candidate Answer: Archaeologist

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Regular users of places/restaurant etc.
Options:

1) Client

2) Clientele

3) Often

4) Usage

Correct Answer: Clientele
Candidate Answer: Client

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

This material is not much enough for me
Options:

1) not more enough

2) not so much enough

3) not enough

4) No improvement

Correct Answer: not enough
Candidate Answer: not enough

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

This is a change of my usual work
Options:

1) from my usual work

2) for my usual work

3) in my usual work

4) No improvement

Correct Answer: from my usual work
Candidate Answer: in my usual work

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Maharana Pratap killed many enemy soldiers through his sword.
Options:

1) by his sword

2) with his sword

3) across his sword

4) No improvement

Correct Answer: with his sword

Candidate Answer: with his sword

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Everyone hoped of good weather on the day of the wedding
Options:

1) for

2) at

3) about

4) no improvement

Correct Answer: for
Candidate Answer: for

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He asked the child to go and play with some others children.
Options:

1) some other's children

2) some others

3) some other

4) No improvement

Correct Answer: some other

Candidate Answer: some other



Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Two men were once walking along a forest path, talking of courage and loyalty. The bigger one, who had a gun, was boasting of his own bravery and fidelity, when
suddenly a large bear came from behind a rock close in front of them, and stood in their way growling angrily. The boaster fled to the nearest tree, dropped his gun,
and climbed to a safe place without thinking of his poor friend. The latter flung himself upon his face as though dead. The bear smelt his body, turned him over, licked
his face, and supposing him to be dead, went on its way leaving him unhurt.

The other man came down from the tree, and going to his friend said "Well, what secrets did he whisper so quietly in your ear?". To which the little man, who owed
his life to his own presence of mind and not to the boasted bravery and fidelity of his companion, replied, "why, he said, 'put not your trust in braggarts,’ and I shall
take his advice."

What were the two men talking about while walking along the forest path?
Options:

1) About their wives and children.

2) About money and fame.

3) About friendship and enjoyment.

4) About courage and loyalty.

Correct Answer: About courage and loyalty.
Candidate Answer: About courage and loyalty.

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Two men were once walking along a forest path, talking of courage and loyalty. The bigger one, who had a gun, was boasting of his own bravery and fidelity, when
suddenly a large bear came from behind a rock close in front of them, and stood in their way growling angrily. The boaster fled to the nearest tree, dropped his gun,
and climbed to a safe place without thinking of his poor friend. The latter flung himself upon his face as though dead. The bear smelt his body, turned him over, licked
his face, and supposing him to be dead, went on its way leaving him unhurt.

The other man came down from the tree, and going to his friend said "Well, what secrets did he whisper so quietly in your ear?". To which the little man, who owed
his life to his own presence of mind and not to the boasted bravery and fidelity of his companion, replied, "why, he said, 'put not your trust in braggarts,’ and I shall
take his advice."

What is the meaning of the word "fidelity"?
Options:

1) Muscle

2) Strength

3) Faithfulness

4) Courage

Correct Answer: Faithfulness
Candidate Answer: Courage

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Two men were once walking along a forest path, talking of courage and loyalty. The bigger one, who had a gun, was boasting of his own bravery and fidelity, when
suddenly a large bear came from behind a rock close in front of them, and stood in their way growling angrily. The boaster fled to the nearest tree, dropped his gun,
and climbed to a safe place without thinking of his poor friend. The latter flung himself upon his face as though dead. The bear smelt his body, turned him over, licked
his face, and supposing him to be dead, went on its way leaving him unhurt.

The other man came down from the tree, and going to his friend said "Well, what secrets did he whisper so quietly in your ear?". To which the little man, who owed
his life to his own presence of mind and not to the boasted bravery and fidelity of his companion, replied, "why, he said, 'put not your trust in braggarts,' and I shall
take his advice."

After seeing the bear, what happened to the boaster?
Options:

1) He fled home.

2) He hid himself behind the rock.

3) He hid himself behind a shed.

4) He fled and climbed up the nearest tree.

Correct Answer: He fled and climbed up the nearest tree.
Candidate Answer: He fled and climbed up the nearest tree.

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Two men were once walking along a forest path, talking of courage and loyalty. The bigger one, who had a gun, was boasting of his own bravery and fidelity, when
suddenly a large bear came from behind a rock close in front of them, and stood in their way growling angrily. The boaster fled to the nearest tree, dropped his gun,
and climbed to a safe place without thinking of his poor friend. The latter flung himself upon his face as though dead. The bear smelt his body, turned him over, licked
his face, and supposing him to be dead, went on its way leaving him unhurt.

The other man came down from the tree, and going to his friend said "Well, what secrets did he whisper so quietly in your ear?". To which the little man, who owed
his life to his own presence of mind and not to the boasted bravery and fidelity of his companion, replied, "why, he said, 'put not your trust in braggarts,' and I shall
take his advice."

What made the bear go away after examining the man?
Options:

1) The bear thought the man was dead.

2) The bear could not stand the bad odour of the man.
3) The bear did not want to eat the man.

4) The bear heard a noise and was scarred.

Correct Answer: The bear thought the man was dead.



Candidate Answer: The bear thought the man was dead.

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Two men were once walking along a forest path, talking of courage and loyalty. The bigger one, who had a gun, was boasting of his own bravery and fidelity, when
suddenly a large bear came from behind a rock close in front of them, and stood in their way growling angrily. The boaster fled to the nearest tree, dropped his gun,
and climbed to a safe place without thinking of his poor friend. The latter flung himself upon his face as though dead. The bear smelt his body, turned him over, licked
his face, and supposing him to be dead, went on its way leaving him unhurt.

The other man came down from the tree, and going to his friend said "Well, what secrets did he whisper so quietly in your ear?". To which the little man, who owed
his life to his own presence of mind and not to the boasted bravery and fidelity of his companion, replied, "why, he said, 'put not your trust in braggarts,’ and I shall
take his advice."

What saved the little man?

Options:

1) The aid from the villagers

2) His friend's bravery

3) His own presence of mind

4) His own courage

Correct Answer: His own presence of mind
Candidate Answer: His own presence of mind



